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Directlons [1-5) : Fill in ¢ach
of the numbered blanks in the fol-
lowing passage with the most suil-
able word out of the alternative
ven against each number.

(1] her monumental repulation
the Mona Lisa was a [3] thirty-one
inches by bwenty one inches, small.
er even than the poater of her sold
im the Louvre Gifl shop. She hung
on Uhe norih wesl wall of the Salle
des Evals [3) a twe inch-thick pane
af protective plexiglas. Painted on
a popular wood panel her [4] mist-
Nled atmosphere was atltribubed 1o
Da Vinci's mastery of the sfumate
style, in which forms appear to (5]
in le one another.

1. (1) Despite
(23 Unlikely 1o
3] Even with
(4] Kone of the above
2. (1) Onily
[2) Mere
[3pJust
[4) Nane of the above
3 (l)n
(2)0n
3] Behind
(4] More of the above
4. [1) Ethereal
[2} Curtous
[3) Pictorial
[4) Mone of the above
B. (1) Get dupbicaved
(2) Evaporate b
{3 Conatituted
(4] None of the above
Directions (8-11) : Choosc
the right “parts of speech” of Lhe
words given In the questions below.

(2] Adjective
{4) None of the above
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7. Culveri
(1) Moun
(2) Adjective
(3] Vers
(4] None of the abave
8. PFlumose
(1) Noun
[2) Adjective
[3) Verts
[4) None of the above
8. Maraud
(1] Koun
12) Adjective
3 Verb
(4) Hone of the abeve
Haleyon
(1) Noun
" (2) Adjective
(3] Vera
[4) None of the above
Shard
(1) Moun
(2) Adjective
13) Veers
{4) None of the above
Diregtions (12-30) : Read the
pasaage and answer Lhe queslions :
The last one in this long pro-
cesaton of silenl men and women
was a litlle wizened old man. Even
he carried a load of two baskeis,
slung on a pole on his shoubder. the
same load of a folded quilt. a eaul-
dron. Bul there was only one eaul-
dron. In the other basket it scemed
there wis a quill, extremely ragged
d patched but clean still. Al-
though the load was lighl. It was
too much for the old man. It was
evident thatl in usual Limes he
would be beyond the age of work and
was perhaps unaccustomed Lo such

10,

11

‘labour in recentl years. His breath

whistled as he staggered along and
he strained his eyes (o watch those
who were ahead. of him lest he be
leflt behind. and his old wrinkled face

was 261 in a8 sorl of gasplng agony

Suddenly he could go no mare
He sel his burden down with grea
gentleness and sank upon the
ground, his head sunk between his
kniees, his eyes closed, panting des-
perately. Starved as he was, a litte
blood rose in dark patches on hia
cheeks. A vendor selling hol nos
dles set his stand near, and shoul-
ed his trade cry, and the light from
the stand lell an the old man’
drooping fligure. A man passing
stopped and muttered, looked o
him. 1 swear | can give no mone this|
day il | amn to leed my e even noth
ing bul noodles— bul here is Lhix
old man. He brought out of he
ragged mrdie a bit of silver coln, and
after a moment's hesilalion an
mullering. he added 1o il a coppa
penaTy. g

“There, old father”. he said with
a sorl of biller heartineas, “lel me
sce you eal noodles.” The old man
Hited his head slowly. He said: S,
1 did nol beg of you. Sir. we have
good land and we have pever bien
starving like this before, handng suck
good land, Bul this year the river
rose and men slare even on good
land al such lires. SIF. we i,
have no seed lell. 'We have ealen ouar
seed.” Take it'. said the man, amnd
he dropped the money into the old
mun's apron and wenl an his way.
sghing.

The vendor prepared his bosd o
noodies and called oul. How many
will yous eat, obd man® The old mas
said, ‘Ome small bowl is encugh’

Then the old man rose wilh
greal effori and took Lhe bowl be
tween his shaking hand and he
went to the olher baskel. He pulled
aside the quill until one could see
the shrunken face of a dmall boy
Iying with his eyes asl closed. The
old man hited his head a0 thal ha
maouth could touch the edge of ke
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Eltle bowl, he began to swallvw fee-

bly unul the hot mixtare was fin-

shed. The old man kept ipurmur-
ing o him “There my heart
eeneealhiere, my child....." "Your
grandsan® Said the vendor, Yes,
the son of my only son. Both my
san and his wife were drowned as
they worked on our land when our
dikea broke.” ‘Bul you have the sil-
ver bl eried the vendor, astonished
to see that the odd man ordered on
mare. The obd man shook hia head,
That is for seed” The beat | can do
for this grandson of mine 1o buy a
little seed for the land.......Yea,
even, | die and othera must plant
il the land must be pul to seed’,
12, Meaning of Cauldron
(1] Narrow neckad earihen pol
12) Large kettle for boling or
heating liquid
(3) Metallic pol for carrying
waler
(M) Metallic box to carry
clothes
. The bachground of the
cpisade is
[1) France 12) New York
[3) China (4) England
Meaning of stagger
(1) To reel from side to side
12) To walk unsveadily
3] To bend the body
(4] None of the above
. The passer by was :
(1) Very rich
{2) Nol quite rich
(3) Very poor
[4) Uniletme "
The odd man ‘strained his
eyes’ because ©
(1) He was afrasd of being
left behind
2] It was gelling dark
1) His eye sight was very
poor
[4] It was oo hit
. The men and women in the
proceaskon were silent
because :
{ 1) They carried much loads
12) They were busy walking
{3) They were tired
{4) They were rightened

18. e obd man hesitaled Lo lake
the silver coin because
111 He did not understand why
the man was giving him a
onln
12} He was surprised
13} I was below his dignity o
Lake alms
{4} He had enocugh money
18, Meaning of panting
(1) Dizziness
2) Slow breathing
[3) Rapid breathing
[4) Lay down straight
20. Find the mis-match.
1) unaccusiomed- nol used
£:]
(2] agomy-hungry
(3] desperately-withoul both-
ering aboul anylhing
4] drooging-bent
21. A B pand C enter inlo a part-
nership. A invesls soome mon-
ey al lhe beginning . Binvesls
double the amount afler &
manths and C invests thrice
the amount after 8 monihs. if
the annual profit be Rs. 27000
C s share is:
il) Bs, 9000 (2] Rs. 11250
(3 Rs. 10,800 (4) Ra. BE25
2. Als bwice as good n workman
as B and together they Ninish
a piece of work in 14 days. The
number of days taken by A
alone Lo finish the work Is :
(1 R1] [z
w8 [4) 42
23. Each boy contribuled rupecs
equal o the number of girls
and each girl contribuled m
equal o the number of
in a class of G0 students,
If the tolal amount thus col-
lected s Ra. 1600, how many
bogrs are there in the class?
(1) 3
255
() 50
[4) Data Inadequale
24. [x Mol y+ y¥oolx]in:
(Ix% ol y
[2) y % of x
(3 2% of ay
[4) xy % of 3

Two barrels contain & mixiure
of ethanol and gasoline. The
content of the ethanol s G0%
in the firsl barrel and 30% in
the second barrel, In what ra-
o mst the mixlures [ram the
lirst and the second barrels be
Laken Lo form a mixiure con-
taining 50% ethanol?

[y iz (20

@23 )22

The angles of a convrex hexa-
gon in degrees are inlegers and
w arithmelic progression. L and
M denote the largest of these &
angles. Then the maamum val-
ue that M can Lake is :

(1) 125 degree (2] 150 degree
13) 175 degree (4] 179 degree
Two siraight lines can divide
a circular disk into a ma:
i of 4 parts. Likewise into
how many parts can four
straight hnes divide a circu-
lar disk 7

(A1 ] (2o

(3) 10 [

., The currencies in countrics M
and M arc denoled by mand n
respeciively. The exchange
ratein 1990 was lm, O.6n the
price level in 2006 in M and N
are 150 and 400 respectively
with 1980 as a base of 100,
The exchange rate in 2006
based solely on the purchas-
i power ity consideration
is1m:

(1)0.225n

[2) 0625 n

[M16n

[4)3.8n

The age of Mr. Bhagal in 2002

was | /90 ol hia birth year.

What is his age in 2006 7

(1) 30 1228

(3] 245 4y

Directions (30-31) : The cosl
of fuel running the engine of an
army lank is proportional to the
square of the specd and Hs. 64 per
howr for a speed of 16 kmph. Other
cosls amount Lo Rs. 400 per hour,
The tank has 1o make a journey of
400 krm at a constant speed.
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RﬁTnm: vounomical speod for
L% JOLTREY I8

(1) 20 kmph
[2) 30 hnph
[3] A5 kinphy
41 40 kmph
31, The total cost loe the jourmey
al this mosl cvonomical spoed
I=:
(1) B GO0 [2) Res. BOOO
[3) Rs. 10000 §4) Rs. 1 1000
2. Ina markel rescarch © sect,”
i opted for Mirma dewogent
whereas 8% opled for Surl
Blue detorgent. The resl were
unsure. il the dilference be-
tween Lthose who apled for
Surl Blue and those who were
uncertain is 720, How many
reapondenis were covered in
the survey 7
(1] s
[2] 1440
18] 00
(4] Datan Inusbivpuene
3. A properly LX INCrease was
proposed by & municipal cor-
puration and it was observed
that 40°% of Lhe property own-
ers favoured i while 8066 of
the non-owners of properly
favoured it. IT 70% of volers
are properily owners. whal is
the probulality that a veler se-
lected al random would be the
“one lavouring the increase?
[LRLEE- ]
2052
13040
{4} Data Inadeguate
3. Atoothed wheel of diuneter 50
cm s alteched 1o a smaller
wheel of dameter 30 om, How
many revolulions will the
sifaller wheel make when the
larger ome makes 15 revolu-
Lipaes? =
s 12120
(3 4) 30
38. Prol. Chatterjor bought a car
and got 15% of s original

prioe us o dealer's discount. He
then sold i ot 20% prolit on |
his parchase price. What per- I

centage profit did he get on the

_ original price 7

(1) 2% 12) 12%
13) 5% (4) 17%

. ‘The area of a rectangle gels re-

duced by 9 sq. metre if its
length i1s reduced by S5m and
breadih is inereased by 3m. If
we increase the length by 2m
and breadih by 3m. the area
s increased by G7sg. metre.
The length of the reclangle is:
(1) 8m [Z) 156

(3 17m [4) 18.5m

- A dinner party is o be fixed

for a group of 100 persons. In
this party. 50 persons do nol
prefer fish, 60 prefer chicken
and 10 do mot prefer cither
chicken or Msh. Find the num-
ber of peaple who prefer both
fish and chicken.

)2 12) 30 .
13) 40 {4) 10

The average of marks oblained
in 120 studenis was 35, If the
average of passed candidates
wis 39 and that ef failed can.
didates i3 15, the number of
candidales who passed the ex-
amination s : |

(L) ToQ [2) 10

(2120 [4) 80

There are (wo examination
halls, Pand Q. If 10 students
are sent from P to Q. then the
number of students in each
room is samec. If 20 siudents
are senl from @ to P then the
rivmnber of students in P is dou-
ble of that in Q. The number
of students in P and { respec-
Lively are :

11)60.40

12) 70.50

13) 80,60

14) 100.B0

+ If & number of two digits is k

times the sum of s digits,
thien the mumber formed by in-
terchanging the digits is the
sum of the digits miltiplied by
N 2010+ k
(3= k ) k=1

Directions (41-44) : Study the
following graph and answer the
questions.

O Quantty 1n lakh-tins
B Value in crores of Hupees

4l. In which year, the value per

tonne was minimum ?
(1) 1996 12) 1987
(3) 1999 4] 2000
What was Lhe approximale
peroent intrease in export u'd
we from | 99620007
[h) 350

. [#1330.3
[3) 4333
[1] None of these

= What was the pereent drop in
export quantity from 1996 to
1gaTr

)75

2] 30

325

{4) Mone of these

Il i 1999, the processed food

Uns were exported at the same

rale per Uin as that in 1998,

whal would be the value of ex-

port in 1999 [in crore of Ra.|?

L (2) 375

(3) 352 4] 330

Directions [(45-48) : Mr. and
Mrs. Sharma have two children
Adha and Shashi, Shashi married
Radha, daughter of Mrs. Mahajan.
Suresh, Son of Mra. Mahajan mar-
ried Rita, Sonu and Rocky are bom
o Suresh and Rita. Uma and
Sudha are daughters of Shashi and
Radha.
45. What is the surmame of Sonu?

[t Mnhn]l.n

(2] Sharma

(3) Shashi
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[4) None of these

How is Suresh related
Sudha?

(1) Brather

[Z) Unecle

(3) Maternal uncle

{4} Cousin

Whal is Sudha'’s relation to
Adha? .

2]

1) Saster
12) Kiece:
{3) Aunt
{4) Daughter” ;

. How Is Soou related Lo Mr.
Mahajan 7
(1) Sister-in-law
(2) Orandson
(31 Som
[4) None of these - ]

. In a cerlain code. FAVOUR' is
written as ‘EBUPTS'. How is
‘DAGGER’ wrilten in that
-code ¥
(1) EBHHFS
«[Z) CBFHDS
(3 CRFFDS
(4) EBFHDS

al 9
7|81

(2 (2 &2

(3) 6561 (4] 7

Directions (51-568) : Examine
the ghven Venn diagram and answer
the following questions :

Past

Aslany Graduaales I

Dactars knew Englsh

B1. Which part denotes poople who
know English but not Docter,
mior Post Graduate nor Aslan
e Indian?

me 26
3) 10 43
. Which parts denoles Poal
Graduale Indian?
maz 21
(515 [4) 4
Which part denotes only Indi-
an who knows English ?
iy (29
23 (SR
Which part shows Doctors who
know English?
me @ 12
314 e
Which part denotes only Astan
. Poat Graduates 7

(11 214
@z 415

B8. Which part denoles Asian Post
Graduates who know Enghsh?
IV E] @7
34 [yl .-
Which of the following combi-

nation of figures best represent
maes, fathers, hurnan beings 7

=
AR

[
"c

e
o

| Mt Read Buy Today
Kiran's

Directions (58-58) : In the fol-
lerwing questions find oul the miss.

ing number:
@AY &

s () 10
iz [LIRE
. Hewr muayy meaningful words
can be formed by using any two
letiers of the word NOT 7
1) One 12) T
[(3) Three {4) Four
Directions [#1-84) : A compa-
ny launches elght products- Q. K
5. T. U, V. W. Y, and Z in one-of the
four metros of India, The products
were launched onc after the other
wver Lhe period of § montha in 2006,
The order in which the products
were launched is consistent with
the following conditions :
Vv islaunched before both Y and ©
@ gets launched after Z
gets launched before W bul af-

Which one of the lollowing

could be truee 7 .

(1Y is the second product Lo
be launched

{2) R is the third product Lo be
laumched

(3@ s the fourth product to
be lnunched :

. (415 15 the Afth product 1o be .
launched
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832, Il Zis the seventh product to
be launched. then which one
ol the Folbowing could be rue?
(1V'W s the fifth product to be
Launched
[2)T is the fourth product to
e lmunched
(2} R is the second product io
be launched

[N
4}V 15 the Gih product to be
Launched

If @ is the Sth product to be

launched then each of the fol-

learing could be tnue exoepd :

(102 is the Nrst product to be
launched

()T is the 2nd product Lo be
launched

(Y s the Jrd product 1o be
launchod

[4) W' is the 4th product to be
laumched

W& ia the fifth product to be

lsunched, which of the follom-
Ing 18 cormect?

[10Q 18 the second product o
e la L

[2) V' is the sevenith product 1o
e Lanimchied

[3) T is the stoh product o be
launched

[4) Wonc of thdac

Directloms (85-88) : In cach
question below ane ghven bwo stabes
ments follewed by two conclusions
numbered | and 11, You have Lo Lake
the bwo given stalemenis to be true
even il they seem Lo be af vansncoe
lor cormmoniby knowm (acts and then
decide which of the given conclu-
slons bogically follows mom the two
given slatements. Read both the
slalemenits and give answer as :
(1) IF only Conclusicn | follows
12) If enly Cenclusion Il follows
13 If either | or II follows
4] If nedghter | mer 11 follows
Statements :

I. Seme Art works are paini-
Ings. -

1. All paintings are Masier
pleces,

Conclnslons

1. Adl Master pleces are painl-
ngs .

II. Some Master pleces are Art
wirks,

Statements

I Some men ane Gonius,
Il. Mo brother is Genlus.

Conoclaslons

I Some brethers arc men.
1. Some brothers are nol men.
Sratements -

L All pants are skirts.

N. No shirt is & skirl.
Conchusbons

I. Some skirls are panis.

0. All shirls are panis,
Btatements :

1. All Planes are Tyres.

H. All Tyres are enganes.
Concluslons :

I. No Engine is a plane

H. Mayre is a plane
Beatements :

I. Some cartoons are funny.
Il. Some carloons are silly
Conclaalons : g
I All funny are cartoons

. Some silly are caricons
Directlons (T0-77) @

Faollow the gheen Inatroctions :
Each llem has a question liol-
bowred by two slatemenis,

Miark (1) if the question can be
answered by statement 1 alane,

Mark (2) if the question can be
answered with the help of [ alone.

Mark (3) if the question can be
angwered wilh the help of both the
staterments bul notwith the help of
either statemenit itself.

Mark (4) if the question can-
mol be answered “with the help of
baoth the statemenis.

TO. Theaverage of three quotations
fora particular ftemn is Rs. 120,
Is the highest quotation less
than or equal to Rs. 1397
I. The lowest quatation is of
Fa. D0,

1. Ome of the quotation ts Ra.
125, .

T1. How many people, resd both
Ectruimie Times fnd Finandal

Express?

L. Out of 300 reacers, 200 read

Financial Expresa. 220 read
Economic Times and 50
read Indian Express.

1. Onst of Lotal 300 readers 220
read Economic Times. 200
reads Financlal Express
and 50 read Nevther.

T2. Abussiarted from bus siop P,
developed engine iroulble and
reached bus stop Q. 40 min-
wies late. Whal & the distance
between the bus stops P and
e
I. The engine trouble devel-

epcd alter travelling 40 lums
from bus stop P and the

speed reduced 1o 5 th of

the origmal speed.

IL The engine trouble devel-

+ oped after travelling 40 kma
from bus stop P in 2 hours
and the speed reduced 1o

% th of the eriginal speed.

73, What is the value of prime
number x 7
I x+ yis & bwo digil wumber
= 50,

I yis a two digit mumber.
What ia Lhe Time dilference in
Nadrobl and Mumbai ¥

1. The depaniure time sl Naro-
bi is exacily & PM. local
time anad Uhe arrrvall time in
Mumbal ks next day 3 AM
bocal lime,

1. Flight time is six hours.

Sujata is the chdest daughier.

Whal s the current age of her

lather #

1. Current age of Sujala is 25
years anvd current age of her
sisber Sangocta is 20 years.,

1. Sangeeta’s current age is

% rd of father's age five
yeirs before.

Alka has two sislcrs and ane

brother. How many sisicrs

does Sandhya have 7

L. Alka and Sandhya are Sis-
ters.

N, Sandhya has one brother,

. Madhav likes car X because its
eodl Ra. 5.00.000 i3 cleapesl
in C scgmont and Raghay likes |
car ¥ because iis cost
Rs.7.00,000 1s higheal in C
segment. Which vehiche will be
selected by Keshav 7

T4,

TE.

78..
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